1. Skim the text. What do these numbers refer to?

2. Read the text. Choose the best answer.

a) Shop owners are upset by
A) the new trends in fashion.
B) new shopping habits.
C) the increasing price of clothes.

b) Shops aren’t making a lot of money because people are
A) too busy to shop.
B) saving all their money.
C) looking but not buying.

c¢) Customers in some ski wear shops
A) have to pay cash.
B) only get refunds after seven days.
C) are charged extra for trying clothes on.

d) According to the owner of Vera Wang, some girls come in to their stores to
A) buy a wedding dress online.
B) have their wedding dress tailored to their sizes.
C) look at themselves in a wedding dress.

e) The owner of Vera Wang says choosing the right dress for a bride
A) is a skilled job.
B) is really difficult.
C) can be easily done.



